

Year :

Month :

Date :

از ۶ فاکتوریل، ۶ فاکتوریل به بعد یکای عدد صفر در شود پس یکای حاصل ۷

$$r_1 + r_2 = 44$$

$$V \times \mathbb{C} = K(4) \quad \checkmark$$

$$\int \frac{1}{\epsilon + \sqrt{v}} \times \sqrt{1 + v + 2\sqrt{v}} \rightarrow \int \frac{1}{\epsilon + \sqrt{v}} \times \sqrt{1 + 2\sqrt{v}} = \int \frac{1}{\epsilon + \sqrt{v}} \times 1 + 2\sqrt{v} \Rightarrow \boxed{\frac{-2}{\sqrt{v}}} \text{ الجواب}$$

$$\therefore) \frac{\sqrt{r} + \sqrt{s}}{\sqrt{1} + r} \times \frac{\sqrt{1} - r}{\sqrt{1} - r} = \frac{\sqrt{r} + \sqrt{s} - \sqrt{1} - \sqrt{r}}{1 - r} = \frac{\sqrt{s} - 1}{1 - r} = \frac{\sqrt{s}}{r} \quad (r)$$

$$\begin{aligned} |\sqrt{4-\sqrt{5}} - \sqrt{4+\sqrt{5}}| &\rightarrow \left(\sqrt{4-\sqrt{5}} - \sqrt{4+\sqrt{5}} \right)^2 = \sqrt{4-\sqrt{5} + 4+\sqrt{5} - 2\sqrt{(4-\sqrt{5})(4+\sqrt{5})}} = \\ \sqrt{4-\sqrt{5}} - \sqrt{4+\sqrt{5}} &\rightarrow \sqrt{4-\sqrt{5}} = \sqrt{5} \rightarrow \sqrt{4-\sqrt{5}} - \sqrt{4+\sqrt{5}} = -\sqrt{5} \end{aligned}$$

$$\frac{\sqrt{r}}{r} \times (-\sqrt{r}) = \frac{\sqrt{r}}{\sqrt{r}} = -1$$

$$\frac{\sqrt{11} + \sqrt{22}}{5 - \sqrt{5}} \rightarrow \frac{\sqrt{11} + \sqrt{11}\sqrt{2}}{5 - \sqrt{5}} \times \frac{5 + \sqrt{5}}{5 + \sqrt{5}} \rightarrow \frac{1 \cdot \sqrt{11} + 1 \cdot \sqrt{11}\sqrt{2} + \sqrt{11}\sqrt{2} \cdot \sqrt{5} + \sqrt{11}\sqrt{2} \cdot \sqrt{5}}{25 - 5} \quad (11) - 3$$

$$\frac{19\sqrt{2} + 19\sqrt{2}}{19} = \sqrt{2} + \sqrt{2}$$

$$\frac{-r(\sqrt{9}-1)^{-1}}{-\sqrt{4}-1} \rightarrow \frac{-r\left(\frac{1}{\sqrt{4}-1}\right)}{-\sqrt{4}-1} = \frac{-r}{\sqrt{4}-1} \times \frac{\sqrt{4}+1}{\sqrt{4}+1} = \frac{-r\sqrt{4}-r}{4-1} = \frac{-r\sqrt{4}-r}{3}$$

$$\frac{\sqrt{25}-1}{5+\sqrt{5}} \rightarrow \frac{4\sqrt{5}-1}{5+\sqrt{5}} \times \frac{5-\sqrt{5}}{5-\sqrt{5}} = \frac{12\sqrt{5}-5-9+\sqrt{5}}{15} = \frac{13\sqrt{5}-14}{15} = \sqrt{5}-1 \quad (-)$$

$$(y - \sqrt{x})^{-1} \rightarrow \frac{1}{y - \sqrt{x}} \times \frac{y + \sqrt{x}}{y + \sqrt{x}} = \frac{y + \sqrt{x}}{y^2 - x}$$

Subject :

Year :

Month :

Date :

۴- ابتدا عبارت را به قاعده دو توان رسانیم و سپس جذر می گیریم

$$\left(\frac{\sqrt{1+\sqrt{2}} + \sqrt{\sqrt{2}-1}}{\sqrt{\sqrt{2}+2}} \right)^2 \rightarrow \frac{1+\sqrt{2}+\sqrt{2}-1+2\sqrt{2}}{\sqrt{2}-\sqrt{2}} \quad \text{الف) (۲)} \quad \frac{2\sqrt{2}+2\sqrt{2}}{\sqrt{2}-\sqrt{2}} \times \frac{\sqrt{2}+\sqrt{2}}{\sqrt{2}+\sqrt{2}} =$$

$$\frac{6+2\sqrt{2}+2\sqrt{2}+2}{1} \quad \text{ب) } 1+2\sqrt{2} = 2+2+2\sqrt{2} = (2+\sqrt{2})^2 \rightarrow \sqrt{(2+\sqrt{2})^2} = 2+\sqrt{2}$$

$$2+\sqrt{2}-2 = \sqrt{2} \quad \checkmark$$

$$\therefore \left(\sqrt[4]{2} \right)^{\frac{1}{2}} \times \sqrt[4]{2} \times \sqrt[4]{2} \times \sqrt[4]{2} = 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} = 2^{\frac{1}{4} + \frac{1}{4} + \frac{1}{4} + \frac{1}{4}} = 2^1 = 2 \quad \text{ج) (۱۲) } \checkmark$$

$$\frac{n^4(1+2+2^2+2^3+2^4+2^5)}{2^4} = 2^2 \quad \frac{n^4 \times 2^6}{2^4 \times 2^6} = 2^2 \quad \text{د) (۲) } \checkmark$$

$$n^4 \times 2^6 = 2^2 \times 2^4 \times 2^6 \rightarrow n^4 \times 2^6 = 2^4 \times 2^8$$

$$n^4 = 2^4 \times \frac{2^8}{2^6} \rightarrow n^4 = 2^4 \times 2^2 \times 2^0 \rightarrow n^4 = 2^6 \rightarrow n = 2 \quad \checkmark$$

$$((a-b)^2)^2 \times ((a+b)^2)^2 = t(2-\sqrt{2})$$

$$(a-b)^4 \times (a+b)^4 = t(2-\sqrt{2}) \rightarrow ((a-b)(a+b))^4 = t(2-\sqrt{2}) \quad \text{ه) (۲) } \checkmark$$

$$(a^2-b^2)^4 = t(2-\sqrt{2}) \rightarrow (\sqrt{2}-2-\sqrt{2}+2)^4 = t(2-\sqrt{2})$$

$$(\sqrt{2}-2+\sqrt{2}+2-2\sqrt{2})^4 = t(2-\sqrt{2}) \rightarrow (2\sqrt{2}-2\sqrt{2})^4 = t(2-\sqrt{2})$$

$$2^4+2^4-2(2\sqrt{2}) = t(2-\sqrt{2}) \rightarrow 2^4+2^4-2(2\sqrt{2}) = t(2-\sqrt{2})$$

$$t = 16 \quad \checkmark$$

$$\left(\left(a + \frac{1}{a} + \sqrt{r} \right) \left(a + \frac{1}{a} - \sqrt{r} \right) \right)^r = r^{\frac{r}{2}} \rightarrow \left(a + \frac{1}{a} \right)^r - r = r^{\frac{r}{2}} \rightarrow a^r + \frac{1}{a^r} + r - r = r^{\frac{r}{2}}$$

(2) -V

$$\sqrt{r - \varepsilon \sqrt{r}} + \frac{1}{(\sqrt{r - \varepsilon \sqrt{r}})^r} = r^{\frac{r}{2}} \rightarrow \sqrt{(r - \varepsilon \sqrt{r})}^r + \frac{1}{(\sqrt{(r - \varepsilon \sqrt{r})})^r} = r^{\frac{r}{2}}$$

$$r - \varepsilon \sqrt{r} + \frac{1}{r - \varepsilon \sqrt{r}} = r^{\frac{r}{2}} \rightarrow \frac{r - \varepsilon \sqrt{r} + 1}{r - \varepsilon \sqrt{r}} = r^{\frac{r}{2}} \rightarrow \frac{r - \varepsilon \sqrt{r}}{r - \varepsilon \sqrt{r}} = r^{\frac{r}{2}} \rightarrow r = r^{\frac{r}{2}} \rightarrow t = r \checkmark$$

$$A = \int_0^1 r^r x^{\frac{r}{2}} \times (x^{-1})^{-\frac{r}{2}} \rightarrow \int_0^1 \frac{1}{r^{\frac{r}{2}}} x^{\frac{r}{2}} \rightarrow r^{\frac{r}{2}} x^{\frac{r}{2}} = r^{\frac{r}{2}} \checkmark$$

(2) -A

$$(rA)^{-\frac{1}{r}} \rightarrow (r^r r^{\frac{r}{2}})^{-\frac{1}{r}} = (r^{\frac{3r}{2}})^{-\frac{1}{r}} = r^{-\frac{3}{2}} = \left(\frac{1}{r} \right) \checkmark$$

$$\sqrt{a} = \int_0^1 r^r a^{\frac{1}{2}} \xrightarrow{\sqrt{a} = r^r} a = r^r \times a^{\frac{1}{2}} \rightarrow a = r^r \times a^{\frac{1}{2}} \rightarrow a^{\frac{1}{2}} = r^{-r}$$

$$a^{\frac{1}{2}} = \frac{1}{r^r} \rightarrow a = \pm \frac{1}{r^r} \xrightarrow{\text{نصف a}} a = \frac{1}{r^r}$$

$$a^{\frac{1}{2}} = r^{-r}$$

(2) -

$$\frac{\frac{1}{a} - r}{1 + \sqrt{r}} = \frac{r\sqrt{r} - r}{\sqrt{r} + 1} \times \frac{\sqrt{r} - 1}{\sqrt{r} - 1} = \frac{r - r\sqrt{r} - r\sqrt{r} + r}{r} = \frac{1 - 2\sqrt{r}}{r} = \boxed{r - r\sqrt{r}} \checkmark$$

$$\sqrt{a + \varepsilon} - \sqrt{a - \varepsilon} = \varepsilon$$

$$(\sqrt{a + \varepsilon} - \sqrt{a - \varepsilon}) (\sqrt{a + \varepsilon} + \sqrt{a - \varepsilon}) = a + \varepsilon - (a - \varepsilon) \Rightarrow a + \varepsilon$$

$$\frac{a + \varepsilon}{\varepsilon} \Rightarrow \sqrt{a + \varepsilon} + \sqrt{a - \varepsilon}$$

$$\frac{a + \varepsilon}{\varepsilon} - \varepsilon = \left(\frac{a}{\varepsilon} \right) \checkmark$$

(2)